## PURCHASE ORDER

Republic of the Philippines
PHILIPPINE COUNCIL FOR AGRICULTURE, AQUATIC AND NATURAL RESOURCES

		RESEARCH AND DEVELOPMENT (PCAA					
JONECO TECH MARKETING CORP.				P.O. NO: <b>2021-06-066M</b>			
				Date: 6/29/2021			
	VAT-009-2	49-090-000	Mode of Procurement: Shopping				
Gentlem Please		his office the following articles subject to the terms and conditions of	107 contained her	21-0 ein:	101		
Place of	Delivery:	PCAARRD	Delivery Te	rm: 15 CD			
Date of D		1 Of VIIII D		erm: 30 days			
			1 dyment 1	ciii. oo days			
em No.	Unit	Description	Quantity	Unit Cost	Amount		
ot C= O	ffice Sup	plies- Consumables (Php 90,520.00)					
1	bottle	HP 682, black	15	505.00	7,575.00		
2	bottle	HP 682, tri-color	15	505.00	7,575.00		
3	bottle	Ink Cart, HP 680, black	15	510.00	7,650.00		
4	bottle	Ink Cart, HP 680, colored	15	510.00	7,650.00		
		Charged to: IDD-Non Degree					
		P.R.# 2021-04-0391 dated 4/13/2021					
		A.P.# 21-06-101 dated 6/7/2021					
		CO. 0044555					
		COM - PCAARRD			*		
		I MIN MINTERSON					
		1 1 11 00 2004 1 1 1 1					
		N JUL 22 2021					
		1-11// 12					
		200702070			30,450.00		
		By:					
		Less 5% EVAT		1,359.38	1		
		Less 1% EWT	Γ	271.88	1,631.25		
		PESOS: TWENTY EIGHT THOUSAND EIGHT HUNDRED EIGHTEEN			28,818.75		
In case	of failure	to make the full delivery within the time specified above, a penalty	of one-tenth	(1/10)			
f one per	cent for e	very day of delay shall be imposed.					
				Very truly yours,			
ONFOR	MEX	120					
	7	mond Petacio		^ -			
	1.57	11.01.01.101.101		gillo	1		
	JONECO T	ECH MARKETING CORP.		SUSAN'S. MOL	INA 💍		
(	signature Over Brinted Name)		(Signature Over Printed Name of Authorized Official)				
	04-	(3.6)	C	hief Administrative	Officer		
		Date		Designation			
-							
-	ster:	<b>/101</b>	ORS/BURS	S No.:			
und Clus		101	ORS/BUR	5 No.:	<u>u-00-0</u>		
und Clus		101	ORS/BURS	26/10/20	2024-06		
und Clus unds Av	ailable:	AIL GRACE M. MARALIT		26/10/20	20-00-90 20-00-06		

FARMUM PROPOSON

## **PURCHASE ORDER**

Republic of the Philippines

COUNCIL FOR AGRICULTURE, AQUATIC AND NATURAL RESOURCES

RESEARCH AND DEVELOPMENT (PCAARRD)

TECH MARKETING CORP.

meer St. Coor. Sheridan St. Elena Rocess Compund, Highway Hills, Mandaluyong City Date: P.O. NO: 2021-09-100M WAT-009-249-090-000

09/27/2021 Mode of Procurement: Shopping

Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Delivery: PCAARRD

Date of Delivery:

Delivery Term: 15 CD Payment Term: 30 days

	chain Ca	Description Description	Quantity	Unit Cost	
			T	OIN COST	Amount
1	рс	Prepaid Cards, Globe 300			
2	рс	Prepaid Cards, Smart 300	20		
		r - a oards, Smart 300	28	300.00	8,400.0
			15	300.00	4,500.0
					4,000.0
		Charged to: MRRD: Project: SEA CUCUMBER PROS. 3 UN			
		Frei3 - Fea grasses our culturate phos. 3 lin			
		A.P.# 21-06-101 dated 6/7/2021			Market State
		07772021			
					*
	-				
					12,900.00
		Less 5% EVAT		575.001	
				575.89	
		ESOS: TWELVE THOUSAND TWO HUNDRED EIGHT AND 93/100  make the full delivery within the time.		115.18	The same of the sa

In case of failure to make the full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed.

CONFORME:

JONECO TECH MARKETING CORP.

(Signature Over Printed Name)

Date

SUSAN S. MOLINA

(Signature Over Printed Name of Authorized Official)

Very truly yours,

Chief Administrative Officer

Designation

Fund Cluster: Trust Fund 184

Funds Available:

ORS/BURS No.: 62-204622-2021-06-60227

additural - 02-308601-2021-10-00465 Date of ORS/BURS: 2021-04-30, 2021-10-67

ABEGAIL GRACE, M. MARALIT

Accountant II

AMOUNT: \$ 12,900.00

ATTACHMENT: 1) Obligation Request 2) Purchase Request 3) Abstract of prices 4) Canvass/Quotation of 3 different suppliers leces. 00 additional 5) Job Request (Vehicle) 6) Exclusive distributor if necessary 7) Stock Position Sheet if necessary

	4	PURCHASE ORDER				
W 40 T		Republic of the Philippines				
		PHILIPPINE COUNCIL FOR AGRICULTURE, AQUATIC AN	ID NATHDAL DI	ESOLIBORO		
		KESEARCH AND DEVELODMENT (DC	AABBUI	ESOURCES		
Supplier	: JONECO	IECH MARKETING CORP.		2021 DE DEENI	*	
Address	: Unit 103 (	G/F Rudgen 1 Bldg. 17 Shaw Blvd., Pasig City	P.O. NO: <b>2021-06-065M</b> Date: 6/29/2021			
TIN	: VAT-009-	249-090-000				
			Inviode of F1	ocurement: Shopp	oing	
Gentle Plea		this office the following articles subject to the terms and condition	1.8 4 0 7 ns contained here	21	130	
Place o	of Delivery:	PCAARRD	Delivery To	rm: 15 CD		
Date of Delivery:			Delivery Term: 15 CD Payment Term: 30 days			
Item No.	Unit	Description				
Lot C=	Office Sup	pplies- Consumables (Php 90,520.00)	Quantity	Unit Cost	Amount	
1	bottle	Epson 003 Bottle Ink (C13T00V100), 65ml, black				
2	bottle	Epson 003 Bottle Ink (C13T00V100), 65ml, cyan	20	260.00	5,200.00	
3	bottle	Epson 003 Bottle Ink (C13T00V300), 65ml, ragenta	20	275.00	5,500.00	
4	bottle	Epson 003 Bottle Ink (C13T00V400), 65ml, yellow	20	275.00	5,500.00	
5	bottle	EPSON Ink 001, black	20	275.00	5,500.00	
6	bottle	Ink Cart, Epson T664, black, 70ml	6	455.00	2,730.00	
7	bottle	Ink Cart, Epson T664, cyan, 70ml	6	260.00	1,560.00	
8	bottle	Ink Cart, Epson T664, magenta, 70ml	6	275.00	1,650.00	
9	bottle	Ink Cart, Epson T664, yellow, 70ml	6	275.00	1,650.00	
14	cart	Ink Cart, HPLOS63AA, HP 955XL, cyan	6	275.00	1,650.00	
15	cart	Ink Cart, HPLOS66AA, HP 955XL, magenta	1	2,090.00	2,090.00	
16	cart	Ink Cart, HPLOS69AA, HP 955XL, magenta	1	1,540.00	1,540.00	
17	cart	Ink Cart, HPLOS72AA, HP 955XL, black	1	1,540.00	1,540.00	
18	cart	Toner Cart, CF283A, HP 83A, black	_ 1	1,540.00	1,540.00	
	Vali	TOTAL CAR, CT 200A, HP 83A, DIACK	2	4,130.00	8,260.00	
		Charged to: MRRD- Cradle Protein Hrdrolysates (Php 21,175.00)				
		ACD- NRCP Project (Php 24,735.00)				
		A.P.# 21-06-101 dated 6/7/2021				
		P.R.# 2021-04-0398 dated 4/28/2021				
		PR#2021-04-393 dated 4/26/2021				

(Amount in Words) PESOS: FORTY TWO THOUSAND NINE HUNDRED THIRTY

In case of failure to make the full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed.

Very truly yours,

2,049.55

409.91

CONFORME:

Edmont House

JONECO TECH MARKETING CORP.

(Signature Over Printed Name)

Fund Cluster: Trust Fund 184

Funds Available:

ABEGAIL GRACE M. MARALIT

Less 5% EVAT

Less 1% EWT

SUSAN S. MOLINA TO

(Signature Over Printed Name of Authorized Official)

Chief Administrative Officer

Designation

ORS/BURS No.:

Date of ORS/BURS:
AMOUNT:

1-100 225

45,910.00

2,459.46

43,450.54

ATTACHMENT: 1) Obligation Request 2) Purchase Request 3) Abstract of prices 4) Canvass/Quotation of 3 different suppliers — 1) Concept (1) Converse (2) Canvass/Quotation of 3 different suppliers — 1) Converse (3) Canvass/Quotation of 3 different suppliers — 1) Converse (3) Canvass/Quotation of 3 different suppliers — 1) Converse (3) Canvass/Quotation of 3 different suppliers — 1) Converse (3) Canvass/Quotation of 3 different suppliers — 1) Converse (3) Canvass/Quotation of 3 different suppliers — 1) Converse (3) Canvass/Quotation of 3 different suppliers — 1) Converse (3) Canvass/Quotation of 3 different suppliers — 1) Converse (4) Canvass/Quotation of 3 different suppliers — 1) Converse (4) Canvass/Quotation of 3 different suppliers — 1) Converse (4) Canvass/Quotation of 3 different suppliers — 1) Converse (4) Canvass/Quotation of 3 different suppliers — 1) Converse (4) Canvass/Quotation of 3 different suppliers — 1) Converse (4) Canvass/Quotation of 3 different suppliers — 1) Converse (4) Canvass/Quotation of 3 different suppliers — 1) Converse (4) Canvass/Quotation of 3 different suppliers — 1) Converse (4) Canvass/Quotation of 3 different suppliers — 1) Converse (4) Canvass/Quotation of 3 different suppliers — 1) Converse (4) Canvass/Quotation of 3 different suppliers — 1) Converse (4) Convers

The pasm



Central Portal for Philippine Government Procurement Oppurtunities

Award Notice Abstract (Ref No.: 3340537)

Status: Updated

Reference Number:	DEPARTMENT OF SCIENCE AND TECHNOLOGY-PCAARRD	
7722798	rases de varriayor, rimugan, Los Baños Laguna Region IV-A Philippings	Award Type:
Control Number:	Awardee : Contact Page 1	Award Notice
Supply and Delivery of Office	JONECO TECH MARKETING CORP.  Address:  Designation:	Contract Amount:
Supplies and Other S	NO. 7 PIONEER ST., COR. SHERIDAN ST. ELENA ROCES COMPOUND HIGHWAY	Php89,260.00
Bid Notice Title:	HILLS MANDALUYONG CITY Mandaluyong BDM	Award Date:
Supply and Delivery of Office	City Metro Manila, NCR, Philippines	29-Jun-2021
	Line Item	Publish Date:
Approved Budget:	[#]	24-Nov-2021
Php197,434.00	Office Supplies and Devices, Common and Other Supplies, 44120000, 219, Piece  Product/Service/Project Name  Budget  Php104,151.00	Date Last Updated:
Procurement Mode:	7==77100	24-Nov-2021
Shanning - Ordinam (D	Reason for Award :	Contract Number:
Office Supplies & Equipment	Lowest calculated and most responsive	1010721-0131 and
(Sec. 52.1.b)		1841021-242 and
Classification:		1840721-130
Goods		Proceed Date:
Category:		13-Jul-2021
Office Supplies and Devices		Contract Effectivity
Applicable Procurement		Date:
Rules:		13-Jul-2021
		Contract End Date:
mplementing Rules and Regulations		28-Jul-2021
		Created By:
unding Source:		Jose Raymond Ajes
overnment of the		Manalo
hilippines (GOP)		Date Created:
unding Instrument:		23-Nov-2021
eneral Appropriations Act		Approver:
rea of Delivery:		
aguna		View Documents:
elivery Period:		4
5 Day/s		
ontact Person:		
nairperson, BAC		
eated By:		
se Raymond Manalo		Control of the Contro